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Insert appropriate mathematical term to complete the following statements.

(1) Two linear factors of x> — 5x — 6 are

(1.0x4)

(ii))  Ifa, B are roots of 5x* — 3x — 9 = 0, then product of roots is

(iii)  The mean proportional of 4m? n* and p® is

(iv) A subset of 4 x 4 is called the

in A.

Each statement given below has been followed by multi options. In fact one of them is absolutely right.

Encircle the correct one.

(1) Point (1, —4) lies in quadrant

(a) I (b) II
(i1) IfAE B, then4 NB=
(@ @ (b) U

(ii1))  sec @ cot 8 =

1
cos 6

(a)  sin® (b)

(©)

(c)

(©)

(iv)  The most frequent occurring observation in a data set is called

(a) mean (b) median

(c)

(1.0x4)
11 @ 1v

B d 4
CIr
mode (d) range

Encircle ‘T’ for true or ‘F’ for false as the case may be. Provide the correct statement if it is deduced false.

(1.0x4)
(1) The terminal side of angle 235° lies in 4™ quadrant. T/F
(i1) The spread or scatternes of observations in a data set is called central tendency. T/F
(iii)  In continued proportiona : b = b : ¢, ¢ is said to be third proportional. T/F
(iv)  Roots of equation 4x* — 4x + 1 = 0 are equal. T/F
Solve the following sums. (2.0%5)

(i) Solve the equation x*> + 2x — 2 = 0.




(ii))  Evaluate (1 — 3w —3w?)’.

(ii1))  Find p, if 12, 3p — 6, 27 are in continued proportion.

(iv)  Provethat (tan @ + cot 0 ) tan 0 = sec’ 0

(v) Find arithematic mean by direct method for following set of data 12, 14, 17, 20, 24, 29, 35, 45

QS.  The sum of the coordinate of a point is 9 and sum of their squares is 45. Find the coordinates of the point.
3.0)




PAKISTAN SWEET HOME CADET COLLEGE

APTITUDE TEST for ADMISSION to F.Sc. (First Year)
MODEL PAPER... Computer Science

Time Allowed Max. Marks

45 minutes 25.0
Q.1 Insert appropriate scientific terms to complete the following statements. (1.0x4)
(1) gate is also known as inverter.

(11) The process to pass through a loop is called

(ii1) operation is represented by “+” sign.

(iv) function is used for output purpose in C language.

Q.2 Each statement given below has been followed by multi options. In fact one of them is absolutely

right. Encircle the correct one. (1.0x4)
(1) Which symbol is used for decision in a flow chart?
(A)  Rectangle (B)  Parallelogram (C)  Diamond (D) Oval

(i1) Which software helps in finding and removing errors in programs?

(A)  Linker (B)  Text Editor (C)  Loader (D)  Debugger
(1i11)  Which of the following is an increment operator?

A + B) += © ++ (D) =t

(iv)  Which statement is used to exit from switch statement?

(A)  Default (B)  Continue (C) Exit (D)  Break

Q.3  Encircle ‘T’ for true or ‘F’ for false as the case may be. Provide the correct statement if it is

deduced false. (1.0x4)
(1) While is also called counter loop. T/F
(11) && is a logical operator. T/F
(i11))  If structure is used in programming for repetition purpose. T/F
(iv)  The term keyword is the other word for reserved words. T/F
Q.4 Give short answers. (2.0 x5)

(1) Define Algorithm.

(11) Differentiate between while and do while loop.




Q.5

(i11)  What is the purpose of scanf() function? Explain with example.
(iv)  What is the purpose of if structure? Also write its syntax.
v) Differentiate between constants and variables.

Generate the output of the following code.

Int n, count, sum;

n=28;

count=25;

sum=50;

if (n<25)

{

count= count+5;

printf(‘“‘\nCount=%4d”, count);

}

else

{

count=count-5;

sum=sum-+n;

printf(“‘\nCount=%4d”, count);

printf(“‘\nThe sum is =%d”, sum);

}

(3.0)
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Q.1 Insert appropriate scientific terms to complete the following statements. (1.0x4)

Q.2

Q.3

Q4

(1) Isotopes are atoms of same element with same

(i1)) The relation between v, f and A of a wave is

(ii1) is an example of a longitudinal wave.

(iv) The process by which electrons are emitted by a hot metal surface is called

Each statement given below has been followed by multi options. In fact one of them is absolutely
right. Encircle the correct one. (1.0x4)
(1)  What is the direction of the magnetic field lines outside a bar magnet?

(a) From south pole to north pole (b) From north pole to south pole
(c) From side to side (d) There are no magnetic field lines
(1))  Two resistors of 20 ohm each are connected in parallel with a battery of 10V. The total current

passing through the circuit is:

(a) 1A (b) 2A (c) 3A (d) 4A
(ii1)) The intensity of sound depends upon the of a sound wave.
(a) Amplitude (b) Loudness (c) Both (a) and (b) (d) Pitch

(iv) To measure the potential difference voltmeter is connected in

(a) Series (b) Parallel (c) In any way (d) None

Encircle ‘T’ for true or ‘F’ for false as the case may be. Provide the correct statement if it is

deduced false. (1.0x4)
(1) The turn ratio of a transformer is 10. It means Ns= 10 N,. T/F
(i1)) The power of a convex lens is 5 dioptre. Its focal length will be 2cm. T/F

(ii1)) A point charge of +2C is transferred from a point at potential 100V to a point at potential S0V.

So the energy supplied by charge is 50 J. T/F
(iv) Time period of a simple pendulum is independent of mass. T/F
Give short answers. (2.0 x5)

(1) On what factors does the loudness of sound depends?




Q.5

(11) Define spherical mirror and give its types.

(iii))  State coulomb’s law and give its mathematical form.

(iv)  Draw symbol and truth table of AND and OR gates.

(v)  The halflife of 7N'® is 7.3s. A sample of this nuclide of nitrogen is observed for 29.2 s.

Calculate the fraction of original radioactive isotope remaining after this time.

Define and explain series combination of resistors.

3.0)
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Write meanings of the following words in Urdu or English: (1.0 x 3)
famous ban support
Give Similar words (words having similar meanings): (0.5 x 3)
pleasure respect collect
Give Opposite words (words having opposite meanings): (0.5 x 3)
decrease remember artificial
Write the missing Form of Verb: (1.0 x 2)
throw ride
Choose the correct word to complete the sentence: (0.5 x 2)
Will the children a museum Every customer paid the bill.
tomorrow? (visit, visits, visited) (has, have, can)
Do as Directed: (1.0 x 3)
He drove the car carefully.
(Change into Present Indefinite)
The police caught the thief.
(Change into Passive Voice)
The gardener have sown a seeds.
(Correct the Sentence)
Make meaningful Sentences: (1.0 x 3)
repair
worried
act upon
To clear the meanings of the given pair, use these words in your own sentence: (1.0 x 2)
accept
except
Translate into English: (1.0 x 3)
-?D){ﬁhﬁd’gu’)'ﬁ
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Write a five-sentenced Paragraph on the topic ‘l work hard in studies because ...... (1.0x 5)






